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1. XOXZAEKL T, sin OHIEATEY. (SH3 D30, A5, BT, C#94%)

(1) sin x + cos x (2) sinz + v/3cosx
(3) Vésinz — v2cosz (4) acoszT —sinx (a>0)

S — oS o g 13 . T
(5) sin x cos(ar—l— 6) (6) \/isln<x—|— 1271')4—\/5005(964— 12)
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2. XOAEZHHLT, sin ORI TERYE. (SHK47330F, Afke6mr 208, Bfkom, C#ki12)

(1) 6sinz + 6cosx (2) L sinz—cosz
\/g
(3) —/10sinz + /10 cos = (4) (b—a)sinz + (a+b)cosx (0<a<b)
. 5 : _ 5 _ T
(5) 2sin (a: — gﬂ') + 2cosx (6) sin (m 19 77) + /3 cos (m 12 )
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1. RXROAXZHGHL T, sin DHEEARTEYE. (SHK3T30%, Atksg, Bk749, CHom)

* ZARBOER (IEEERDF)

asinx + bcosz = Va? +b?sin(x +a) 7KL cosa—\/ﬁ , sina:\/ﬁ

AEFHIERS  EX D K ) =B E 2, IEER cosasing + sinacosz = sin (x + ) ZH\ 5

Yok, © =0 2fUAL THED D 22 DT 2 & X,

(1) sin x + cos x (2) sinz + V3 cosx
VI 12 =2 V12 43" =2
cosa = —=
{_ V2o gt {cosa; Ll
sina = —= . =3
V2 s1na:§
. T
f@zﬁsm(w—l—‘l) 5ﬁ251n<m+§)
(3) V6sinz —v2cosz (4) acosT —sinx (a>0)
\@2 +(—v2)2 =22 = —sinz 4+ acosx
cosaq = Y8 = ¥3
222 s =z VEDT+ a2 = Va2 +1
sina—g—\/; —%
s I R
5‘?&:2\/§sin(w—g> 5 =+va +151n(w+a)1
cosax = —
Lok { | Vet m#ty
Yol fiF 2ﬂsin(x+%7r) s1na:\/m
(5) sinx — cos (erl) (6) ﬂsin( +Eﬂ')+ﬁcos (er—)

6 12 12
:sinm—(cosxcos%—sinxsin%) —\fsin{( ”)—&—W}—l—\/icos(x—i— 1”2)
:sinx—(§cosx—%sinm) —f{sm( )cos7r+cos(ac+12)sm7r}

+v2cos (z + &
:%sinxfgcosz ( 12)

= — ZSin(as—i— f—z)—l—\/icos(x—l—l%)

9 /3 2 Zﬁ{—sin(ﬂc—i—%)—i—cos(aj—f—%)}
)+ (—£) =v3 VaEsin{ (o4 ) + Bn) et 1(4)
{cosa\;gﬁ*égl S ez on _Zsin(m+27r)
eTTE : Y sin(6+m) = —sinf
— V/3sin ( “) BB L. I b RS 5.
6 —2sin (m—&-l—ﬁlw)
Yo fiF 3sm( Fl ) el fif —2sin (m— %)

2sin (ac — %w)
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2.

ROAZGHL T, sin OHIFAATERY. (SHh4330%, Afk6sr20%, B9 57,

(1) 6sinx + 6cosx

= 6(sinx + cos )

V12412 =42
cosa =
sina =

53 = 64/2sin (:c + W)

= «

S-Sl
ISE

N

(3) —v/10sinz + v/10cos x

= —v/10(sinx — cos x)

124 (-1)2 =
1
costx = —=
{c ﬁl = a=-7
51na:—ﬁ

54 = \ﬁ\/ésm( —g)
= —2\/gsin<

= 24/5sin <a: +

_
4
3

=
4

Sl — 2v/5sin (:,E + %71’)

(5)  2sin (a: - %TF) +2cosz

=2 (smxcos em — cos x sin 7r) + 2cosx

= 2( fsmx— écosx) + 2cosx

= —+/3sinx + cosx

(—V3)2 +12 =2

_ _ 3
{cosa— 5 = =51

sino = 12 0

53 = 2sin (33 + (5371')

© $2f - HE R L0

(2)

(4)

(6)

C#124y)

1 .
——sinz — cosx
V3
= %(sinx —V/3cosx)
124 (—v3)2 =2
{C’OSO(:2
= a=-T
. 3 3
Sané:—T
'—i?fﬁzlsm z— %
2 o3
2\/§sin<a)—ﬂ->
3
(b—a)sinz + (a+b)cosz (0<a<b)

V(a—b)?
=+/2(a? + b?)sin (x + a)

+(a+b)?=/2(a%+1b?)

CoOs ¥ =
FEU o & { o sz;j” EBLT
siInoa = \/W

) s (o)
sm(ac 1277 +\/§cos x 19

= sin (&~ &) + vVBeos {(¢ — &) + 5}
iﬂ-)

=sin (z —
+ V3 {cos (z — 3m) cos T —sin (z — Sm)sin L }
(o &)+ Leos (¢~ fr) — Jein (o - )

=—3sin(z— Sm) + @cos (z— &)

55 = 1sin{(m—%7r) —|—§7r}
T

= sin (m+4)

S B HERZ B 0EH S,
—sin (:17 + %ﬂ')

Sl i — sin (m - %TF)
sin (m — %77
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